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=) memma] | BV |mmmx| @ | By |mmax| @ | B [mems] @& | B |mammx| @ | By [mmss] @ | B |mems] G | B0 |mmmr| @ | B |zeass| @ | B |mmms] /| BV |mmms
BHRL 0.30 [ssaL|®aaL| 0.30 |REnt|mEnL| 0.30 [aEaL|muaL] 0.40 |RaaL| sl 0.30 |REnL|fwneL] 0.30 [iwaL|fanat] 0.30 |Rsnr|mEnt] 0.30 [zl mwaL] 0.30 [saaL|ann] 0.40 |weznL|wszL| 0.40
Rl 0.30 sl szl 0.30 [ ®inL] 0.30 [®uaL|muaL 0.50 [RuaL|gia] 0.30 |Ruac]mmar 0.30 [RuaLgisa] 0.30 |Ruac|mmar| 0.30 |RuaL i) 0.30 |RuEac|muaL| 0.40 |rmaL gz 0.40
LA 0.40 [ssaL|®aaL]| 0.30 |Rsnt|mEnL| 0.30 [aEaL|muaL] 0.50 [R#aL| Rl 0.30 |REnL|fwneL] 0.30 [awaL|munt] 0.30 |Rsnr|mEn] 0.30 [awnLmwaL] 0.30 [saaL]|ann] 0.40 |weznL| w2 0.40
Rl 0.40 sl sz 0.30 [l ®inL] 0.30 [®uanL|muaL 0.50 [RuaL|gia] 0.30 |Ruac]mmaL 0.30 [uaL i) 0.30 |#iEac|mmaL| 0.30 |RuaL| i) 0.40 |Ruac|muaL] 0.40 |rmsaL gzl 0.40
BHRL 0.40 [ssaL|®anL]| 0.30 |REnL|mEnL| 0.30 [aEaL|muaL] 0.50 [RaaL|fsal| 0.30 |REnL|fwneL] 0.30 [iwaL|fanal] 0.30 |Rsnr|mEn] 0.30 [awnLwwaL] 0.40 [saaL]|aEnn] 0.40 |weznL| w2 0.40
Rl 0.30 sl sz 0.30 [ ®inl] 0.30 [RunL|muzaL 0.50 [RuaL| i 0.30 |Ruac]mmar| 0.30 [RuaLgisnn] 0.30 |#uac|mmaL| 0.30 |RuaL| i) 0.40 |guac|muaL| 0.40 |rmaL gzl 0.40
0.40 [ssaL|®anL]| 0.30 |Rsnt|mEnL| 0.30 [aEaL|mwaL] 0.50 [RaaL| Rl 0.30 |REnL|awneL] 0.30 [iwaL|fanl] 0.30 |Rsnr|mEnt] 0.30 [l mwaL] 0.40 [saaL]|Enn] 0.40 |meznL| w2 0.40

0.40 paewaL| L] 0.30 R E2LL 0.30 =L ERLl 0.30 |=HEaL] L] 0.30 |zl &2l 0.30 |EaL REaeL] 0.30 |sERL R ZRL] 0.30 [RFERL REZL 0.40 |5 E2RLL 0.40 |=#2eL|#F2L] 0.40

0.40 |#ERL EEaL] 0.30 |RERL|RERLL 0.30 |R=ERL RERLL 0.50 |REaL] &R 0.30 |REaL] &Ll 0.30 [REARL| RE2eL] 0.30 |RERLI AL 0.30 |RERL RERL] 0.30 [RERL|RERLL 0.40 |R=#E2L|#E2RL] 0.40

0.40 | aLBHEaL] 0.30 || BE2LL 0.45 |R=FERL[BERLL 0.50 |R=HEaL] L] 0.30 |RwaL] &L 0.30 |HEAL| EE2eL] 0.30 |RERLIEZRL] 0.30 |RFERL RERL] 0.40 |5l E2Ll 0.40 |22l #F2L] 0.40

0.40 |FERL RERL] 0.30 |RERL|RERLL 0.40 |R=ERLIRERLL 0.50 |REaL] 82 0.30 |REaL] 8Ll 0.30 |[REARL| RE2eL] 0.30 |RERLI AL 0.35 |RERL RERL] 0.40 [RERL|RERLL 0.40 |R=#E2L|#E2RL] 0.40

0.40 | aLHEaL] 0.30 || #E2LL 0.40 |R=FeL[BERLL 0.50 |RHEaL] L] 0.30 |RuaL] &L 0.30 |HEAL| RE2eL] 0.30 |RERLIEZRL] 0.30 |RFERL RERL 0.40 || 2E2Ll 0.40 |R=#2eL| 2L 0.40

0.40 |FERLIEERL] 0.30 |RERL|RERLL 0.40 |RERLIRERLL 0.50 |REaL] 2L 0.30 |REaL] 82l 0.30 |REARL| RE2eL] 0.30 |RERLI AL 0.30 |RERL RERL] 0.40 [RERL|RERLL 0.40 |R=#E2L|#ERL] 0.40

0.40 | RLHEaL] 0.30 || #E2LL 0.40 |2 BERLL 0.50 |RHEaL] L] 0.40 |RwaL] 2L 0.30 |HEARL| EE2eL] 0.30 |RERLIE%Z2L] 0.30 |RFERL RERL] 0.40 || E2Ll 0.40 |22 #F2L] 0.40

0.35 |RERL RERL] 0.30 |RERL|RERLL 0.40 |RERL RERLL 0.40 |REaL]#E2RL] 0.30 |REaL] B2l 0.30 |[REARL| RE2aL] 0.30 |RERLI AL 0.30 |RERL RERL] 0.30 [RERL|RERLL 0.40 |R=#E2L|#E2RL] 0.40

0.30 |aL fuEaL] 0.30 || #E2L 0.40 |R=FEeL[BERLl 0.50 |RHEaL] L] 0.30 |RwaL| &L 0.30 |[HEARL| RE2eL] 0.30 |RERLEZL] 0.30 |RFERL REZL 0.40 || 2E2Ll 0.40 |22l #F2L] 0.40

0.30 |ERL[REaL] 0.30 |RERL|RERLL 0.40 |R=ERLIRERLL 0.50 |REaL] 2L 0.30 |REaL] 8Ll 0.30 |[REAL| RE2eL] 0.30 |RERLI AL 0.35 |RERL RERL] 0.40 [RERL|RERLL 0.40 |R=#E2L|#ERL] 0.40

0.30 JaaL iz 0.30 |RERL|®E2Ll 0.50 |R=FERL[8ERLl 0.50 |RHEaL]fEEeL| 0.30 |REaL] 2L 0.30 |REARL REaL] 0.30 |RERLIRZ2L] 0.30 |RFERL RERL 0.40 R RERLL 0.40 |22 #FE2L] 0.40

0.30 paERL [z 0.30 PRERL|REZRLL 0.50 |RERL RERLL 0.50 |R#EaL] 2L 0.30 |REaL]®E2RLl 0.30 |RERL SE2RL] 0.30 |RERLAHZL] 0.30 |RERLRERL] 0.40 [RERL RERLL 0.40 |R=#E2L| #E2RLl 0.40

0.30 | aL iz 0.30 || ®E2Ll 0.50 |R=FERL[#ERLl 0.30 |RHEaL]|fEEeL| 0.30 |REaL] R 0.30 |EEARL REaL] 0.30 |RERLE%ZRL] 0.30 |RFERL RERL] 0.40 [ RERLL 0.40 |R=#E2eL|#E2L] 0.40

0.30 |ERL iz 0.30 |RERL|REZRLL 0.50 |RERL RERLL 0.3 |R#EaL]#ERL 0.30 |REaL]%HE2Ll 0.30 |RERL SE2RL] 0.30 |RERLIAHZL] 0.30 |RERLRERL] 0.40 [RERL RERLL 0.40 |R=#E2L|#E2RLl 0.40

0.35 AL BEaL] 0.30 |RERL|®E2Ll 0.50 |R=F L 8ERLl 0.30 |RHEaeL]|fEEeL| 0.30 |R%aL] 2L 0.30 |REARL| REaL] 0.30 |RERLIEZRL] 0.30 |RFERL RERL] 0.40 | e[ RERLl 0.40 |22 #E2L] 0.40

0.30 |ERL iz 0.30 |RERL|REZRLL 0.50 |RERL RERLL 0.30 |R#EaL]#E2L| 0.30 |RE2aL]RHE2RLl 0.30 |RERL | SE2RL] 0.30 |RERLIAHZRL] 0.30 |RERLRERL] 0.40 [RERL|RERLL 0.40 =L #E2RL] 0.40

0.30 | aL iz 0.30 |RERL|RERLL 0.40 |R=FERL[2ERLL 0.30 |RHEaL]|fEEeL| 0.30 |RwaL] 2L 0.30 |REARL REaL] 0.30 |RERLIRZ2L] 0.30 |RFERL RERL] 0.40 [ RERLL 0.40 |22l #E2L] 0.40

0.30 |ERL Rz 0.30 PRERL|REZRLL 0.50 |RERL RERLL 0.30 R #E2RLl 0.30 |RE2aL]®E2RLl 0.30 |RERL SE2RL] 0.30 |RERLIAHZL] 0.30 |RERLRERL] 0.40 [RERL RERLL 0.40 R #E2RLl 0.40

0.30 | aLfuaL] 0.30 || ®E2Ll 0.50 |R=FERL[8ERLl 0.30 |REaL]fuEeL| 0.30 |RwaL] 2L 0.30 &AL REaL] 0.30 |RERLE%ZRL] 0.30 |RFERL RERL] 0.40 [ 2ERLl 0.40 |R=#E2eL|#E2L] 0.40

0.30 |ERLfEaL] 0.30 PRERL|RERLL 0.50 |RERL RERLL 0.30 |REaL] 2L 0.30 |REaL]RERLl 0.30 |RERL SE2RL] 0.30 |RERLI AL 0.30 |RERLRERL] 0.40 [RERL[RERLL 0.40 |R=#E2L|#E2RLl 0.40

0.30 |ERL RuEaL] 0.30 |RERL|BERLL 0.50 |R=ERL RERLL 0.30 |REaL]®#E2L] 0.30 |REaL]BiEaL] 0.30 [REAL| RiEaL] 0.30 |RERLRW2L] 0.30 |RFERL RERL] 0.40 |RERL|RERLL 0.40 |R=E2L|#ERLl 0.40

0.30 preaL w7z 0.30 PRERL|#EZRLL 0.50 |RFERL ERLL 0.30 |R#EaL]fE2eL] 0.30 |RE2L%ERLl 0.30 |RERL RE2RL] 0.30 |RERLIARZL] 0.30 [RERLIRERL 0.40 |SRERL RERLL 0.40 | =% #E2L] 0.40

0.30 pEFERL | EEARLL 0.30 |REARLI#FERL] 0.50 |RERLIREARLl 0.30 |BERL | &E2LL 0.30 [REARLIRFERL] 0.30 [RERLEEA2Ll 0.30 |REARL #E2L] 0.30 |RERLIEFERL] 0.40 [RERLEE2L] 0.40

Ll sasL] 0.30 L[] 0.30 |sazeL | mazeLf 0.30 sEzL| B 0.30 sz B 0.40 || RazeL] 0.40

0.34 0.30 0.41 0.41 0.30 0.30 0.30 0.30 0.38 0.40 0.40

0.40 0.30 0.50 0.50 0.40 0.30 0.30 0.35 0.40 0.40 0.40

0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.40 0.40
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=) memma] | BV |mmmx| @ | By |mmax| @ | B [mems] @& | B |mammx| @ | By [mmss] @ | B |mems] G | B0 |mmmr| @ | B |zeass| @ | B |mmms] /| BV |mmms
BHRL 0.30 [ssaL| ®anL| 0.30 |REnL|mEnL| 0.30 [aEaL|muaL] 0.30 [RaaL| Rl 0.30 |REnL|fwneL] 0.30 [iwaL|manal] 0.30 |Rsnr|mEn] 0.30 [l mwaL] 0.40 |saaL|Enn] 0.40 |wsznL| 2L 0.30
Rl 0.30 sl szl 0.30 [ ®inL] 0.30 [®unL|muaL 0.30 [RuaL|gia] 0.30 |Ruac]mmaL| 0.30 [#uaL i) 0.30 |#uEac|mmar| 0.30 |RuaL| i) 0.30 |RuEac|muaL| 0.40 |rmsaL gz 0.30
LA 0.30 [ssaL| ®aaL| 0.30 |REnLmEnL| 0.30 [aEaL|muaL] 0.30 [R#aL|feal| 0.30 |REnL|fEneL] 0.30 [iwaL|fanl] 0.30 |Rsnr|mEn] 0.30 [l mwaL] 0.40 |saaL|Enn] 0.40 |weznL| 2L 0.30
Rl 0.40 sl szl 0.30 [l ®inl] 0.30 |RunL|muaL 0.30 [uaL|gia] 0.30 |Ruac]mmaL| 0.30 [#uaL i) 0.30 |#uac|muaL| 0.30 |RuaL| i) 0.40 |Ruac|muaL| 0.40 |rmzaL g2 0.30
BHRL 0.40 [ssaL|®anL]| 0.30 |REnL|mEnL| 0.30 [aEaL|mwaL] 0.30 [R#naL|feal| 0.30 |REnL|fEneL] 0.30 [iwaL|fanl] 0.30 |Rsnr|mEn] 0.30 [aEnLmwaL] 0.40 |saaL]|Enn] 0.40 |wsznL| 2L 0.30
Rl 0.30 sl sz 0.35 [l ®inL] 0.30 [®uaL|muzaL 0.30 [RuaL|gia] 0.30 |Ruac]mmaL| 0.30 [uaL i) 0.30 |#uac|mmaL| 0.30 |RmaL| i) 0.40 |Ruac|muaL| 0.40 |rmzaL gz 0.30

0.30 [ssaL| ®aaL]| 0.30 |REnL|mEnL| 0.30 [aEaL|muaL] 0.30 [RaaL|feal| 0.30 |REnL|fEneL] 0.30 [iwaL|fanl] 0.35 |Rsnr|mEnt] 0.30 [awnLmwaL] 0.40 |saaL|ann] 0.40 |weznL| 2L 0.30

0.30 paewaL| ] 0.30 |SERL|E2Ll 0.30 =L ERLl 0.30 |=HEaL] L] 0.30 |REaL] 8L 0.30 |EaL RE2eL] 0.30 |sERL R ZRL] 0.30 |RFERL REZL] 0.40 |5 E2RLL 0.40 =% #F2eL] 0.30

0.30 |ERL REaL] 0.30 |RERL|RERLL 0.30 |R=ERL RERLL 0.30 |REaL] 2L 0.30 |REaL] 8Ll 0.30 |REAaL RE2eL] 0.30 |RERL AL 0.30 |RERL RERL] 0.30 [RERL|RERLL 0.40 |R=#E2L|#E2RL] 0.30

0.30 |waL iz 0.30 SR L|#E2L] 0.30 |R=FEaeL8ERL 0.30 |RHEaeL] L] 0.30 |RwaL] &L 0.30 |HEAL| REaL] 0.30 |RERLE%Z2L] 0.30 |RFERL RERL] 0.40 | oL 2E2Ll 0.40 |=%2eL|#F2L] 0.30

0.30 |ERL[REaL] 0.30 |RERL|RERLL 0.30 |R=ERL RERLL 0.30 |REaL] 2L 0.30 |REaL] B2l 0.30 [REARL| RE2eL] 0.30 |RERLI AL 0.40 |RERL RERL] 0.40 [RERL|RERLL 0.40 |R=#E2L|#E2RL] 0.30

0.30 |waL w7z 0.30 SR #E2L] 0.30 |R=FaL{8ERLl 0.30 |RHEaL] L] 0.30 |RwaL] 2L 0.30 |HEAL| RE2eL] 0.30 |RERLIE%Z2L] 0.30 |RFERL RERL] 0.40 || 2E2Ll 0.40 |22 #F2L] 0.30

0.30 |ERL[REaL] 0.30 |RERL|RERLL 0.30 |R=ERL RERLL 0.30 |REaL] 2L 0.30 |REaL] 8Ll 0.30 [RERL| RE2eL] 0.30 |RERLI AL 0.40 |RERL RERL] 0.40 [RERL|RERLL 0.40 |R=#E2L|#E2RL] 0.30

0.30 | aL [z 0.30 |2 B E2L] 0.30 |=FaL{BERLl 0.30 |RHEaL] L] 0.30 |RwaL] &L 0.30 |HEAL| REaL] 0.35 |RERLIEZL] 0.40 |RFERL REZL 0.40 |5 2E2Ll 0.40 |R=%2eL|#F2L] 0.30

0.35 |RERL RERL] 0.30 |RERL|RERLL 0.30 |R=ERL RERLL 0.30 |REaL]#E2L 0.30 |REaL] B2l 0.40 |[RERL| EE2L] 0.30 |RERLI AL 0.40 |RERL RERL] 0.35 [RERL|RERLL 0.40 |R=#E2L|#E2RL] 0.30

0.30 |waL iz 0.30 SR L|®E2L] 0.30 |R=FaeL8ERLl 0.30 |RHEaL] L] 0.30 |RwaL] &L 0.30 |HEAL| EE2eL] 0.30 |RERLIEZRL] 0.40 |RFERL RERL] 0.40 SRl 2E2Ll 0.40 |=%2eL|#F2L] 0.30

0.30 |ERL[REaL] 0.30 |RERL|RERLL 0.30 |R=ERL RERLL 0.30 |REaL] 2L 0.30 |REaL] 82l 0.30 |REAL RE2eL] 0.30 |RERLI AL 0.40 |RERL RERL] 0.40 [RERL|RERLL 0.40 |R=#E2L|#E2RLl 0.30

0.30 |aL iz 0.30 || ®E2L 0.30 |R=FERL[BERLl 0.30 |RHEaL]|faEeL| 0.30 |R%aL] 2L 0.30 |REARL REaL] 0.30 |RERLIREZRL] 0.40 |RFERL RERL] 0.40 R ERLL 0.40 |R=%2eL|#F2L] 0.30

0.30 pERLfEaL] 0.30 PRERL|RERLL 0.30 |RERL RERLL 0.30 |R#EaL] 2L 0.30 |RE2aL]RERLl 0.30 |RERL SE2RL] 0.30 |RERLIAHZL] 0.40 |RERLIRERL] 0.40 [RERL RERLL 0.40 | R=#E2L|#E2RLl 0.30

0.30 Lzl 0.40 | REZRLL 0.30 |R=FERL[2ERLL 0.30 |RHEaL]|fEEeL| 0.30 |RwaL] 2L 0.30 |REARL| REaeL] 0.35 PRERLIEZRL] 0.40 |RFERL RERL 0.40 || ERLL 0.30 |22l #E2L] 0.30

0.30 |EERLfEaL] 0.30 PRERL|RERLL 0.30 |RERL RERLL 0.3 |R#EaL]#ERL| 0.30 |REaL]%E2Ll 0.30 |RERL | SE2RL] 0.30 |RERLIAHZRL] 0.40 |RERLIRERL] 0.40 [RERL RERLL 0.40 | R=#E2L|#E2RLl 0.30

0.35 L EaL] 0.30 |RERL|2E2LL 0.30 |R=FERL[BERLL 0.30 |RHEaL]fEEeL| 0.30 |RwaL] 2L 0.30 |REARL| REaL] 0.30 |RERLIREZ2L] 0.40 |RFERL RERL 0.30 R RERLl 0.40 |22l #E2L] 0.30

0.30 |ERLfuaL] 0.30 PRERL|RERLL 0.30 |RERL RERLL 0.30 |REaL] 2L 0.30 |RE2aLRERLl 0.30 |RERL SE2RL] 0.30 |RERLIAHZL] 0.40 |RERLIRERL] 0.40 [RERL RERLL 0.40 |R=#E2L|#E2Ll 0.30

0.30 | aL iz 0.30 |RERL|RERLL 0.20 |R=FERL[8ERLL 0.30 |RHEaeL] L] 0.30 |RwaL] 2L 0.30 |REARL REaeL] 0.30 |RERLIRZRL] 0.40 |RFERL RERL] 0.40 R e[ RERLL 0.40 |R=#E2eL|#E2L] 0.30

0.30 |ERLfEaL] 0.30 PRERL|RERLL 0.30 |RERL RERLL 0.30 |R#EaL] 2L 0.30 |REaL]®ERLl 0.30 |RERL SE2RL] 0.30 |RERLIAHZL] 0.40 |RERLIRERL] 0.40 [RERL RERLL 0.40 |R=#E2L | #E2RLl 0.30

0.30 | aL fuaL] 0.30 || BERLl 0.30 |R=FERL[BERLl 0.30 |RHEaL]|faEeL| 0.30 |R%aL] Rl 0.30 |REARL REaL] 0.30 |RERLIRZRL] 0.40 |RFERL RERL] 0.40 SRR E2RLl 0.30 |2l #E2L] 0.30

0.30 |ERLfuaL] 0.30 PRERL|RERLL 0.30 |RERL RERLL 0.30 |REaL] 2L 0.30 |REaL]RERLl 0.30 |RERL SE2RL] 0.30 |RERLIAFZL] 0.40 |RERLIRERL] 0.40 [RERL RERLL 0.30 =2 #FE2L] 0.30

0.30 |ERL RuEaL] 0.30 |RERL|BERLL 0.30 |R=ERL RERLL 0.30 |REaL]®#E2L] 0.30 |REaL]BiEaL] 0.30 |REAL| RiEaL] 0.35 |RERLIRWAL] 0.40 |RFERL RERL] 0.40 |RELRL [ RERLL 0.30 |R=#E2L|#ERLl 0.30

0.30 |l w7z 0.30 PRERL RERLL 0.30 |RFERL RERLL 0.30 |R#EaL]fERL] 0.30 |RE2L|RERLl 0.30 |RERL RE2RL] 0.30 |RERLIRFZL] 0.40 PRERLIRERL 0.40 |SRERL RERLL 0.30 |R=#E2eL]#FE2L] 0.30

0.30 pEFERL | EEARLL 0.30 |REARLIRFERL] 0.30 |RERL|REARLl 0.30 | BERL &E2LL 0.30 |REARLIRFERL] 0.30 [RERLEEA2Ll 0.30 |REARL #E2RL] 0.40 |RERLIEERL] 0.40 [RERLEHE2L] 0.30

Ll sasL] 0.30 L[] 0.30 |sazeL | mazeLf 0.30 sEzL| B 0.30 sEzeL B 0.40 || RazeL] 0.30

0.31 0.30 0.30 0.30 0.30 0.30 0.31 0.36 0.39 0.38 0.30

0.40 0.40 0.30 0.35 0.30 0.40 0.35 0.40 0.40 0.40 0.30

0.30 0.30 0.20 0.30 0.30 0.30 0.30 0.30 0.30 0.30 0.30
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